Jubgdbotgtdbotdbootbotgtbtgtn

oo

20040 0O



010
1.1
1.2
1.3

g 20
2.1
2.2
2.3

24
2.5
2.6

030
3.1
3.2
3.3

3.4
3.5

U440
4.1
4.2

g

Uaboooon ...
Uobooooon ... e
goboooooooonD ..o oo

ggbobbooogbbboooobobboood

8
SidOOO0ODODOOOO0n ..o
231 0000 .00
232 0O00DOOOODOODO .00 oo
I
I
0

ggbobboooobbbbooobbboooobobbodg

OODO
OOODO .. e
331 00000O00DOO00DOO00D0000D © o000 oo,
S 70 707 I I I I
333 O00OO00OO00oobOobOobobOooobobobooobobobon

OO0
I
OO

ggbobboooobbboooobbbbooodabbood

OO00O0O0000 ... s e
4.2.1 tight-bindingO OO . . . .. ... 0
422 D0D0000O000 ... e

11
11
11
15
15
17
21
23
26

30
30
32
35
35
37

38
41
42



4.3 OO0OD0 .
431 00000D0O0O0DO0O0OO0O ... 0 oo
432 0000000 ..o s

44 DO00O00 .0

st OO

OAU000ODOOOOOOODODOObDOOOOOODODO

A1 OOOODO .o e
A2 O0OO0OO0 .. e e
A3 OOOO .o s
A4 O0DQOOO0OODOOO0O0O0 ...
A5 OOO0OO0O0OOODOOODOOODODOOnO «. oo

OB O00O0O0OO0OOOOOOOODOODOO
OocCc obooboboooooobooooboboooogo

O D OO0 spds* tight-binding OO0 OO O00OO

55

62
62
63
67
68
68

71

76

77



10 Ui

1.1 O0O0O0oooon

O0000000000000000000000000 (0.1pgm)0000000O0 (nm)
gbboobobogoboobogbooboooboobobboobobooobood
gbboobobooboobboobbobodobbuodobbobdoboobboobood
gbbooobogbbboobbuoobbodobboboboobboobbooooad
gbobbogbooboboobbobobuoobbuooobbodboooboobood
gbbobogbodoboobboobobuoobbuodobooobboobooobood
gboobogobggbobobbooboboobobbodgbobboobboobood
gboboobao

gboogogbobodgbboobdogboboooboobbooboooobooooa
gobbobobobboboboloobooboboboboboboboboboobo
0000 100b00b00ob0ob0obOobOobooDooooooooooooO kgTO
gbobbbuoooaobbbooooobbbbooooobbbbooooobbobd

A

N

res

EF

lead L dot lead R

U 1l.l:00b0b0b0ob0b0obubob0oLboobobo0bepbobbooong
gbboobobuogbbuodobooobuoooobboboobooboboobobbood
gbooboboobodbbuooboob ROODbOOODDOODLDOODOOODO
OoboobooboROODODOODOOOOOOOOOODODOODOODOODDOD
gobobaog



000000000000000000000000000 (0 1.)D0o0o0oo00
Ooo00oooO0o0ooooo0ooooO0ooOooooOo0OooOoOoOoooOoOoOobooOOOon
O00000000000000000000000000D 000000000000
O000ooO000o0000booo0o0o0ooooOoOoOoO0b 100000000 000000
000000000000 single electron transister (SET) 0000000000000
OO00ooooooo0ooooooOooooOoboOoO0oboooOoOObOOoOOOOOObOOO
O00ooOo0ooooOoO0o0oooo0oO0oooo0o0obooOoOo0oO0boOO0OO0OoOoooO0oOoooO
O00oooO0oO0oooooooooobooooooOoOoOobooOoOoOooboOoOoOooOoOOboOO
0000
000000000000000D (GaAs) 000000000000 0O0D00 1.2(a)
0 GaAsO0OO0O00O0000DO0000AIGaAs/InGaAs/AlGaAs0 2000000000
O00000000000000InGaAsO0 0000000000 COOOO0OOOOO
00000000050 mO000000 12b)000000000O0O0O0O0O0ODO0OO
000000000 (000000)00000000000000000000000
O000000oboooooooOoO0OO0o0oO0oO0oOo  NOOOOOOOOooOoooOooobOoOoOo

(a)

—0.4
()

AlGaAs
InGaAs
AlGaAs

S ~

i n-GaAs -

s

; %

8

=

-

2

[}

&)

20
(b)
<
&
E 10
E
S
N=0 (2 6 =1.7
A l L AR AR A ANRAA AU : : _
0 —1.5 —1.0 —0.5 Magnetic field (T)

Gate voltage (V)

0 1.2: (a) GaAs0 00000000000 00000000000 (000000).
() 00000000000 000000000O0 [1).



e(n,m)

(0,—2)

(1,0)
(0,2)

(0,-1) A
(0,1)

(0,0)

———
~—

0 1.3: GaAs0 00000000000 000000000 HundOOOOO n, mOO
00000000000000 ¢(0,—-1)0 &(0,1)0000 £(0,-2), £(1,0), £(0,2)0 00
0000000000000000000000000000000000000000
00000000 N=40000000000000000000000000000
000000000000000000000 (HundO)O

gobbuoooobbbuoooobbbwroobbb2000000000000

1
V(r) = 5m*w§r2,

gogotuobbbbbbddooouooooooboooooobbboooooada
g(n,m) = hwo(2n + |m| + 1)

(000 n=0,1,2,---,m=0,+1,42,--.) 00000 1.300000000000000
000 (10000000 NODOOOOOOOOD0O000000000 1300000
00000000000 00000000000000000000000000000
00000000000000000 (HudO)[1,2)0000000000000000
0000000000000 000000000000000000000000000
000000000000000000000000000000 12()0000000
000000000000 0000000000000000000000 100000
000000000000000000000000000000000000000
00000000000 00000000000000000000000000000
0000000002000000000000000000000000000000
00000000000 BOOOOOOOOOOOOOOOOOOB=VxAOOOO
0000000000 ADOODOOO —e0000

1 1
H = % (p + €A)2 + im*wg’rZD (11)



©, -2 |
(1,2) (1, 1)

(1,0
(b

(0, 4)

i

0,3)
0,2)
.1

\

0,00 |

wdw,

0 14:2000000000000000000000000 [3]. enmd w0000
00000000 w.=eB/m* 000000000000 ((M,m) 0000000

gbobboooobbbdoodad

1
e(n,m)=hQ(2n+ |m|+1) — Ehwcm, (1.2)

0000000000 Q= /w2 +w?/4, w.=eB/m* 00000 (1.2)000000 [3]0
0140000000012(¢)00000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000 [3,4,5,6,7, 8,90

GaAs0O00O000200000000000000000000000000000
0000000000000000000000([10,11]000000000000 [12]0

1.2 O00O00OO0OO0O0O0O0O0O

00000 GeAsOODOOODOOO0000000O00000000C0 (S)000000
00000000000000000000Si000000 GaAsOOOODOO0ODOOO
00000000000000000S 0000000000 (01500000000
000000000000 000000000000000000 Si0000o0onon
000000000000 0000000000000000000000000000
0000000000000000000000000 10nmO00000000000
00000000000000000000000 [13, 14, 15,16, 17,18, 1900000

6



Si Wire Region

Drain
Gate Electrode &l
\"»:’f.,
Source z[001]
Buried Si0, | )
- X[110]
Si Substrate x[100]

(001) SIMOX Wafer  Superficial  y1107 Y(*1%)
Si Layer

0 1.5: 8000000000 [14)].

0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000100KOOOOOOOOOOO00000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00 (17,18, 1900000000000000000000000000000000
00000000000000000000000000000 (20000000000
0000000000000000000000000000000000000000
0000000000000000000000
00 Si000000000000000000000000000000000000
0000000000000000000000000Si000000000000 [21]0
SiDO0000([220100000000000 [23,24,25000000000 (00000
0)000000000000000000LossO DiVincenzoJOOOO0000000
00000000100000000020000000000000000000 [26)0
000000000000000000000C0000000000000000000
0+1/20000000000000000001000000ESROOOOCOOOOO
000000000000 0000000000000000000002000000
00000000000000000000008,, S,000000 Heisenberg D 0 O
0ooooo
Hug = JS; - So, (1.3)

goboobobobobobobobuoJoooobobobobobobobobobo

gboboobobbolobg2b0b0obbobooboboobobobbobg

0000000000000 00000 (XOR)ODOOOoOoooooooo 270
siboOoooooOoOOoOOoOoOoOooooooooboooboobobbooOogoosigoo



(@) (b)

2[001]

Y

X
(1001 [010]

0 16: (a)000 SiD00000000D0D0D0D0D0D0O0DO0DO0O0OOODOODODOODOOO
OO0 Si0D0000000000 a=0543 nm. z,y, 000000000 [100], [010],
001000000 M)SIO Brillovin0 0000000000000 O0OO00O0O SiODOO
O0000k0O0OO0O«,y, 20000000000000000O0O0O0DO0O0(O0)0O0OO

000000000000 00000000000O0O0O0OOO0ooOOUOooOD 28O
O0SiOD0Oo00000booOOo0o0OoooDoOOo000n GaAsOOooboooooooo
O0010nmO0000000000000000000000O0O [13, 14, 15, 16, 17, 18, 19|00
jooogsibcboooooooobooooobooo0oDobooopDoDbooooDon
goggoobbboboobbbbbbbbtbdoddodooooooooooooobon
goggoobobbobbbbbbbbbbobboobobououoouoooooooooaad
GaAsOODOO SibOoOobOooooobooobooobboobobooboboooooo
00000000 ®Si00000000000 9000000000000

1.3 bubgboogood

OOooOooooobooooooooboooooooobooooo Ssibgbooooog
O00O0O0OO0000DOO0O000DONatori, Uehara, 000 SanoO0OO0OOOOOOOO
ooogsigogbobobobobobobobob0oboboboboboboo
030000000000 0000000000ODO0O00OOOSiDOboooooooOO
OO00000000O0OSi0000O0oog [31,32)]00oo0oooooooooooo
0000000000000 00D0KllerODO SiOOOOOOOOODOOOODOOO
00000 3000000 ooooooooooo

Si0000000O00O0O0O0OO0OO0O0OOO0OO0OOOOOODOOOODOOO16()0OOO



GaAs ]

1
[=2]
T T T TI\T T T T T \

Y SN IR NN (NN SR NN SR SUNS N S |

T T 17T T I T T 1T T 117

| N U R N O N N N |
[ |
- =
N O
.—/
=

r_
.
>
<
x
-
>
<
=
=

0170008000 GaAsOO 0000 [34, 350 (a)Si, (b)GaAsOSiO TO0 X 0O
000000000000000GeAsO P000000000DO0O000

OO0000O000S00o00o0oo0obo0ob0oUbO a=0.543 nm OO 00O Brillouin
00000 16b)00000000O0OOSID0000O0O0O0OO 1.7(a)0D0O00000OOT
000 X0'00000000000000000000000 1.6b) 00000000
ooooooSsi-MoSOODOoOoOoooooooobooooDboOookooooOoo
OO0000b0bOobOobDOoboob00b0 k0Db00ob0ObOobDOobDOobDOobOOoOOoOosSio
Oo00o00oDOo0o0oDbOo0o0ooDbo0o0obOOo0oooDoD0O GaAsooooo
000 17(b)00000000TN0D00000000O00U0D0DUDUUOUDDODOOOOOO
gboboobobooboboooobobobobobobooboooobobo20
OO00O000O0oboOO0bO0bO0bO0o0bO0obboobO0bbO0obO0DbOGaAsOODOD
O m*=0.06Tme (meO0O00000)00000000SiD000000O0 m; =0.98me0
OO0o0O000my,=019m,000000000000DO0OOO0OO0 m 000 GaAsODO
OO000003000000000Zeeman 000000000 0OOOOOOOOOODO
OO00o00bO0ob0obO0obOoboOoboooobooboobobobobobobobo sibobggo
OO0 ¢"~200GaAs0 ¢g*~04000000000000O
Oobooobbooboooosiboboooooboogoob sibobooobobooboooo
ooooobooooobobooboobooooobooobooosibobooobooooboo
00000000 360000 Sib00000000ooooooooooooooo
3710000000 tight-bindingO OO [38] 00000000000 OODOOOOOOO

Ir00 k=(0,0,0), X 00 k = (27/a)(0,0,1)0

9



ooboooboogsiboboogobobooboooboboobooobooboobooo
0000000000000000000000 JOOOOOoOo [390

gbogobodgbboodgboobobuooobuoobooboboooboboobobd
OooSigooooooooooooobo0oooboooooboooobsoooDb2000O
OobooobOooboooboooboooooboooSiooboooboobbooboooo
Ooooooooobooooooooooo40b000Sibo0oo0ooboooobooo
OO0 tight-bindingD O DO ODOODOOOOODOODOOOOOOODOOOOODODOOO
gbboobodobbodbooobooobuoboobboboobboooobood
goooo

10



20 Ooouotdbobbototdboboodd
Juoootgtd

2.1 [
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0060000000000 %O000 20000000 [0 1.6(b)00]0k = (0,0,+k)
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hQ 92 o2 h2 92
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1 1
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m’{ 2 my 2
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,0000000002100230000 (0,0,2)0000000000000000 1 =15nm,00
0N=340000000000 (0,0,2)00000 (1,0,0),(0,1,00000000000000000
(0,01)000000000000000000000 (0,0,2)0000000000 (1,0,0), (0,1,0)00
0000000000000 0000

15



(a1) (a2)

(ny,ny,n;)

0,1,0)

(1,0,0)
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021: 00000000000 N=200000000000000+,00000
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gbobbooooboo
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Eint/Flevels | 1.2 3.04 4.56
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